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COMMERCE
PAPER - II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

« 8
1.  The world’s first electronic stock market is : __( ‘) |
(1) KOSPI (2) Nikkie (3) NASDAQ (4) ‘IDrow ]04 y
RY \*§
2. The Human Development Index (HDI) is introduced by : < '! & y 5
(1) UNDP (2) UNICEF ® Mg ( "'1@) World Bank
LY X

3.  Examine the following statements and choosg the correct code :

Assertion (A) : American style option, compared tdEugopean style, provides more freedom
to option holders in exercising the §ption.

Reason (R) : American style option can be exercised ony at a specified date which is
generally the expirii% date. r 4

Codes : {
(1) Both (A) and (R) are cotjct. (2) Both (;X) and (R) are wrong.

(3) (A) is correct, but (R) §wrong. (4)  (A) is not correct, but (R) is correct.
' 4
-

| »
¥
4. From the statements given‘below, identify the correct code :
Statement (I).: | The ke}} strategy behind acquiring a company is to create share holder’s

‘ value.

o g

(" Statement (I1) - \oglomeration is a merger between two companies that have common
usiness areas.

Statement (III) :MRTP Act got replaced by the Competition Act, 2002 in India.
Codes :

(1(' All the three statements are correct.

(2) " Statements (I) and (II) only are correct.
(3) o Statements (I) and (IIT) only are correct.
(

4)  Statement (II) only is correct.

vosss [ [HTHNAINANI
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¢ (]
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< 2
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5.  From the following, identify the tools of fiscal policy :
i)  Public expenditure
ii) Open market operations

(
(
(iii) Deficit financing
(iv) Taxation

(

v) Reserve requirements . '; ‘:
Codes : s / . |
(1) (), (iii), (iv) and (v) (2) (), (i), (iv) and (v) r S . r,
(3) (i) and (v) (4) (i), (iii) and (iv) - |

AR N2

i a2
6.  The basic difference between a static budget and ﬂb)ﬂ;ibﬁ.budg* is t z'a_','t 4

(1) A flexible budget considers only variable gsts but#*a static budget considers all costs.

(2) Flexible budgets allow management lati
based on fixed standards.

de in meefing goals, whereas static budget is

(3) A flexible budget is applicable for a single d pgftment only but a static budget for
entire production facility.

(4) A flexible budget can be prepagg for any produygtion level within a relevant range but
a static budget is based on on?p ific level of production.

4

7. A retiring partner continues.bo’g'e liable for obligations incurred after his retirement :

(1) If unpaid amog‘nt’ﬁs{transferred to his loan account.
(2)  If he does not e p"ubhc notice.
(3) If he start a similar llusmess elsewhere.

. (4) , In all the 'gituations till he survives.

N

In what order, t Bowmg assets are shown in the balance sheet of a company ?
(i) #Trade receivables
s

( Cash !
(iif) Furniturefand fittings

(iv)* Investment in shares and debentures

Codes'.r:r
(1) ), (), (i) (2) (), (), (i), Gv) (3) (i), @(v), (@), (@) 4) (v), (i), (i), i)
\I ll ; Faper
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) (), (i), (iv) IR (v) @) (), (i), @(v) 3R (v)
3) (i) ¥R (v) (4) (i) (i) 3R (iv)

-
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rr,

¢
/)

F
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9. When opening stock is I 50,000, closing stock is ¥ 60,000 and the cost of goods sold is
T 2,20,000, the stock turnover ratio is :

(1) 2 times (2) 3 times (3) 4 times (4) 5 times

10. If: Stock turnover ratio is=6 times

1
Average stock =X 8,000 " " S
1)
Selling price =25% above cost 1 - / g |
What is the amount of gross profit ? r \ y r’
(1) < 2,000 (2) X 4,000 (3) < 10,000 . ) ?;12,0|00

‘AN F

11. A rectangular hyperbola shaped demand curve aTl 1«§~pomts ha's‘ .

(1) Equal slopes of the price demand curve
(2)  Price elasticity equal to unity

(3) Varying price elasticity

(4)

Both slope and price elasticity acl]fl r/
4

12. In case of short-run equﬂlbrluf a perfectly competltwe firm while earning abnormal profits
operates at an output level iﬁht‘

1) Marginal cost is the fminimum
| »

2)  Average cost islthe n‘f‘f;‘limum
a

(
(
(3) Both mar%nal Costa'_arid average cost are equal
(

: v
“(4)" Marginal cﬂi;higher than average cost
(" F

13. Which one of the following statements is false ?
.I"" Normally, price demand curve slopes downward from left to right.
Economie of scale and economies of scope are the same.

3 For optimization, equality between marginal cost and marginal revenue is a necessary
cp'ndltlon but it is not a sufficient one.

(4) Law of variable proportions denotes input-output relationship during short-run.

vosss [ [HTHNAINANI
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9. 9 Afysw Tfaar T 50,000 &1, faq 1&fAaT T 60,000 3T &9 WU JrdA FI AT
¥ 2,20,000 B df i a9 20

(1) 3T (2) AT (3) ERTA (4) =T

10. 3fc : whaan ste ST =6 T .

e i =% 8,000 ( :‘

IEERR: ] =TFTd § 25% 3T o v /‘J
3 T T Y AT R A 2 ( F
(1) ¥ 2,000 % 4,000 % 10,000 (4) {,11000

11. UF ISR SRR STH{d & AT oIoh & Gt
(1) Hod HiT-ash o1 Tl THM Bl € |
(2) HIHI-AE THTE & IR el |
(3) HHd dre Redeid g 2|
(4) <M ®Ed A 3ﬁ?6m|4wﬁﬁ%l

12,  3{e9-99F Hod i feufa 4, F‘ﬁéﬁwﬁmwwWWWﬂwﬁ@wﬁ@
S TR T e T E i

(1) Www%u_
2) aﬁwwa{ﬁf%l
3) aﬁaﬂwﬁr{aﬂmmw%‘n
SO Hmia amma eife 71
13.(1%1#1%#@313@31! T T TAd © 7
o T ®Y § T HIEA A A AC Y € KT AR T B
2) 9 = S do fIEIR *T = T & L

(3) STIEA 1 S=qH HHl 9% TgaM & o, diHiq arma o) diHiq o § Swear &1 9 U
W e I R AR T A6 e

(4) IREdRiE ST o STe9-99 & 3H-U IR STee-Ye Ure4l ol I 7 |
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14. Match the items of List-I with the items of List-II :

List-I List-11I
(a) Law of diminishing marginal (i) Cross demand
utility
(b) Relationship between price of (i) Oligopoly
one commodity and demand for .
other commodity P |
(c) Skimming the cream policy (iii) Cardinal approach "‘ o |
(d) Price rigidity (iv) Pioneer pricing A} / . /
Codes : r 3 7 F
@@ () (o (d) - x '
1 @ G () (v) <« 24 .
@ i) O @ ) v L € X
G @ @ 0 ) a\N N
@) (v) @) @ 0
15. The following are the demand and supply equation§ in a perfectly competitive market :
P=12+0.3 Q, Z
P=40-0.4 Q £
The equilibrium market price wouldﬂi r '
(1) 24 (2) \ 3) 4 4) 20
" 4
16. Which of the following is neba‘ n accounting software package ?
(1)  Quick Books 3 @) A Sage one (3) Sage M (4) Sage 50

] -
&,
17. Which one of the follo(/ing ormula is used to calculate probable error of correlation-coefficient
between two vafiables of,‘'n’ pairs of observations ?

i "1-5" 0.6745 - 2y 0.5758 Sl_—rzg
(" 5% ? on g

i - Dl —p20 Dl - I'2|:|
) 0675 gt (4) 05758 Ea-

18. If the population is heterogeneous, which one of the following probability sampling methods
is mere appropriate ?

(1) quential sampling (2) Quota sampling
(3) Double sampling (4) Stratified sampling
vosss | UHNRCRA 8
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14. Ge-1 1 A 1 GelI-11 1 7S § GAfAd FIC
Tt TEit-11
(a) BEEM Hmid SwfTa fagr () foefs wm
(b) T %] hI HIFd 3R 3T a8 (i) STEUMHHR
T 91 H gy
(c) WA A 1 fHgT (ili) HEATHE® SUNH . “\
(d) v feema (iv) TRt He Frafo _,"‘" |
FE \) ('1
@ © © @ f AN
1) @G () () (@v)
2) @) @) G (v)
@) @) @(v) @ (i)
4) (@v) (i) G @ :
15. TFqul Yiaeayichs IR § T ofR myfd < W
=12+03 F
T=40-04 ¥ 4
grferd STSTR 1o @Tﬁ
(1) 24 ‘ 1 4.
16. Fretffa & 4 F- ma@mérqzawﬁamﬁ%>
1) fo® g (g{ EEICE] (B) WS (4) 9S50
17. ‘n G H T %q‘uﬁ%{aﬁ”ﬂﬂg FrS= U % TR o i T fefated § 9 e g
A ﬁ STt %‘ 2.
= 0.6745 [-)_jfég () 0.5758 El%é
53 - 0675 BT (4) 05758 él_Tré
18. Erﬁikweql forsTrdta 21 @t frefafad § & FF-H T G9read giaest Jonel i U g 2
) Ao e e () e S
(3) et wfeeet yomedt (4) wadiea giaeel o
yosss | LIFHIRLICHNI ;
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19. Which of the following relating to normal distribution are not correct ?
(i) Co-efficient of skewness is three.
(if) It is mesokurtic.
(iii) Mean deviation for it is % o.
(iv) p=x20 covers 95.45% area. 1
(v) Mean, median and mode are equal. "’ ‘: :
(vi) The standard normal variate z has mean one and SD zero. L2 - / < |
Codes : ' e
(1) (@), (iii) and (vi) (2) (i), (iv) and (v) (3) (i), (iii) and (V) 4‘)'r ), (iii) anc;ziv)
g
20. Which one of the following statements is false ? F
(1) Both correlation and regression co-efficients é!/e ame 51L 1
(2)  Arithmetic mean of the regression co-effi€ier ts 15 lways more than the correlation
co-efficient.
(3) Regression co-efficients are independepit of both thé origin and scale.
(4) Correlation co-efficient is the square rpot of t gression co-efficients.

21. Match the items of List-I with Llst-I‘I (

£

I List-1I
rJnage @

List-1I

(a) “He who can manage, ?j Henry Fayol
anything”.
(b)  “Due to these expprz-ments, a factory (i) William B. Cornell
does not remai‘ a*fa.ctgry, it is converted
into a lab ratol”. ‘-"
(c) “Mana ient succeeds or fails as (iii) F.W. Taylor
&8 J human rl tions in business are
( . intelligentlf&tnintelligently handled”.
. (d) “A place fof everything, and (iv) Lawrance A. Appley
¥ geverything/in its place”.
Codes :
(@ (b) (o) (d)
ANy ). @ ) @)
Q@ @ @) )
@) () (ﬁi) <ﬁ> ()
(4) (ii) (iv)
posss {1 IHI\ 1 Fapec
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19. g foawor 4 ey frefafed wuH § 9 S9-9 o7 98 T8 22

20.

21.

pouss |

ST R 0T 19 B |
ﬂ%’ﬁ@gﬁm%l
qwﬁaa'«r o ¥l

w20, 95.45% SARA HR HI T )

e, TR 7R agas IR B ¢ | ." .

A T f99g ‘2 1 71ed T 3R TS, 3 o1 § /‘I
i

freferfed § 9 #H-91 T %YF Tod § 2 I"

1)

(2)
)
4)

(ﬁ'ﬁ!‘l‘!m) =1 T & faed
31feren B

FHIHAT ORI TR ICTH TR |1T 1 HIE JAE

HegaY TUTeh S FHIS Ui F %ﬁ?n%ﬂ

TEt-1 1 7 A 0 A g ‘f“

'ﬁawm‘l

TqeEit-1
aﬁﬁﬁw&mwﬁ‘
Yo H FRAT R W
5T FERT ok RO \ﬂitqw T HREMHT 1917
éﬂéwwﬁ@mﬁww%l
ey @t 3{ STHHREA 36 910 W
R gt & T serE o aelt dery
T3 € Srere Afaaayoi |’
[T LS| Teh f7d T
BT =1 A8 WAk ag 3T
=fear "’

w1 ot T AT

(i

fafaay . A

(i)

(i) TH. T ST

(iv) N9 T T

(€ (d)
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22. Assertion (A) : Management is mainly associated with economic affairs.
Reasoning (R) : Big business houses are the result of effective financial management.
Codes :
(1) (A) is correct and (R) is the right explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the right explanation of (A). .
(3) (A) is incorrect but (R) is correct in isolation. . ( <\
1)
(4) Both (A) and (R) are incorrect. / .|
\) { »
23. Areas of establishing objectives under MBO are : ,.r | r
L
(i) Market Standing < :': ir.. \ g
i 2%
BT ’ \ .
(i) Innovation g k‘ ( : ‘r.
(iii) Industrial Relations #

(iv) Public Accountability
(v)  Productivity
(vi) Industrial Policy

Codes : /

4
(1) (i), (iv), (v) and (vi) J 2) (1), (i), )nd()
v

(3) (), (ii), (v) and (vi) (ii), (iii), (iv) and (v)

-
24. Match the items of Llst-ﬁ with List-II :
i
List-I ( o List-II
¢
(a) Managem nt of Tonml)rrow (i)  Chris Argyris
(b) Motlvéd and Personality (ii) Fredrick Hergberg
((c’ The Motivaion of Work (i) L.F. Urwick
(d) Personalityfand’ Organisation (iv) A.H. Maslow
odes :
7
(a) (b)J(C) (d)
(1& @) (@) (i) (i)
(2) N (i) (@v) @1 (@)
e & (ii) 0
(4) (i) (iv) (i)
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|H|‘ 12 Paper-11

www.examrace.com



22, ARTRAT (A) : T4 Al M Aell @ geelg S|
e (R) : I AT S G9e T geeem &1 & gfawd €1
%<
(1) (A) T 3R (A) T (R) TEl == B
2) (A) 3R (R) I w&t € W (A) T (R) TE A= T R
(3) (A) TEd § T (R) W&l | (‘;
4) (A) 3 (R) T TTera T .- /J

23. THSLA. & Aaiid Sevd fuo & a9 ¥ - -
() TSI rerfeerdt <l i g
(i) TEYEEd . l.\ \

(iii)  STEnfiTR Hary -
(iv) 1 wERId \ /
(v) 3carcehdl

(vi) eTrenfirs ifq

%<
1) (i), (iv), (v) 3R (vi) 1 (i), x aﬁ?

3) (), (i), (v) 3R (vi) ) 4

-—

24, FE- mnaaﬁumu\aina@@mw

(1 ) 111) iv)

wft-1 ( ‘: 11
(a) HwHe ig ) J () Twa i
() wife e T (i) el Tt
( () < wifedeA \\fruﬁ (i) TA.TE. 3fd*w
L(d) A CIUEIEENE (iv) TTE. "l
2,
(a) (b)J(C) (d)
Iy @  (@Gv)FG) (i)
(2) hJ (i) (v) (1) (i)
@ @® @) G @
(4) (D) (@Gv) @) ()

voans 111

J :
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25. Narayan Murthy Committee revised its recommendations on Corporate Governance as on
29th October 2004 which diluted the following areas :

(i) Independence of Directors
(i) Whistle Blower Policy

(iii) Performance evaluation of Non-Executive Directors

(iv) Mandatory training of Non-Executive Directors 1 4
Codes : " N
(1) (i), (ii) and (iii) only (2) (i) and (iii) only A 2 e / 2 )
(3) (i), (ii) and (iv) only (4) Al (i), (ii), (iii) and (iv) r“ 3 > r’
- |
1 y ¢
26. The service marketing mix is an extended marketing mix and inclp&e_s : F

i %
- .
(i) People e (\‘ ( ‘
(i) Process i ) |
(iii) Service

(iv) Physical evidence

Codes : ;
(1) (i), (iii) and (iv) (2) (i), (ii) and (iii)) (3) (i), (ii ayf iv) (4) (), (iii) and (iv)
W
27. Black box model in marketing r&t% to’
(1) Marketing planning _}_j (2)  Marketing mix

4

(3) Marketing control (4) Consumer behaviour

Y

| »
%
28. Items, considered paI( of t‘le augmented product, do not include :
s 1

(1) Guarante ; (2) Warranty
<(3)+ Comple Q{ products (4) Channels of distribution
(" |
29. " Which of the foll@wing is not a type of direct marketing ?
(i) "Direct mail marketing (2) Retail marketing
(3)" Telemarkefing (4) Email direct marketing

30. ’Pre‘_s release’ is a part of :

Bublic relations (2) Advertising
( Sales promotion (4) None of the above
vosss | UHNRCR A 1
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25. WHURE T T o TRFUH FHel T 29 SToREK 2004 w1 o1 foowieen o wened foan foed
frefafea &l 9 @ter o1 -
() TIcerRl =1 T
(i) fua e ifd

(iii) R FREER fewel & foaed &1 qeid

(iv) TR frvm! # sfudemerss i <« 4
w )
(1)  FHaA (i), (i) 3 (iii) (2) HAA (i) 3R (i) \) - / )/
(3) wad (i), (i) 3R (iv) @) (i), (i), (i) 3R (iv) T "r ' A F
26. Qe foquum fag v wafiid fawom fag @ foed wfinfad @ < ;’ik J('
@ @ 1 “\_ ‘ .
)

27. ﬁwﬁﬁaﬁwww&%:i{
1) fouom e 9 __U )  fogmfag 9

@) foqum fra=m 9 U. (4) UMK HIER §
28. éﬂ%a‘fwﬁfﬁw*‘www% ﬁﬁmﬁaﬂﬁ%ﬁ
ELT
3_2 T (4) foazor @rem
ﬁmﬁf@nﬁ@ﬁﬁaﬁwwwﬁﬁ
W&Tm 2
(4) 3-79 yae faqum
30. ‘ﬁi{wﬁv " ey fREd ® 2
(1) i T d @ fEm=a
(3) fosht dae= @ (4) SR H | FE T
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31. In capital budgeting, the term capital rationing implies :

(1) that no retained earnings are available.
(2) that limited funds are available for investment.
(3) that no external funds can be raised.
(4) that no fresh investment is required in current year. .
4
32. In certainty equivalent approach, adjusted cash flows are discounted at : . ...r)' .|
(1)  Accounting Rate of Return (2) Internal Rate of Return ‘ ' . :
(3) Hurdle Rate (4) Risk Free Rate ..r | r
g
Yy P F
33. Combined leverage is calculated as : \1 k‘ ( ;
(1) Operating Leverage + Financial Leverage
(2) Operating Leverage — Financial Levera
(3) Operating Leverage X Financial Leverdge
(4) Operating Leverage + Financial Leverage /
34. Which of the following is not true w‘h‘xeference to cﬁa;; budgeting ?
(1) Capital budgeting is relite& t} asset replacement decisions.
(2) Cost of capital is equa minimum required return.
(3)  Existing investmeﬂtén a project is not treated as sunk cost.
(4) Timing of cash eo:/vs is relevant.
35.‘ What is Ecot‘élc Order Quantity ?
(" (1') Cost of an \ﬂw\r (2) Cost of stock
« (3) Reorder levgl (4) Optimum order size
1ch of the fol wing is not a basic objective of HRM ?
(I} To attrac R into the organisation
(2 To develop and motivate HR for better performance
(3) Tro have the reward and punishment system for HR
(4) To integrate and maintain HR in the organisation
vosss | UHNRCR A 1 Fapec
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31. SISt § gt i @ e §
(1) =1 gfaenfia o suersy & 7

2) v % fau dfqa fafua soersy €
(3) % A fafy TE e weRd
(4) o9 9d § I T A sEvas 6 R .

’4

32. ﬁmwwﬁmﬁamm%mﬁmﬁ@amwﬁmw%

/)

(1) TEHRT T (2) eFafe IAE r '
(3) oY R (4) wifem g R -
<AL Vg
33. WIH IS H1 TR 36 THR fhal I @ X "(" f
(1) YeareH e + facita et ' Y )
(2) T I — faia IArw '
(3) g I x foita e
(4) T I <+ faia A \ p
34, ﬁw%aﬁﬁﬁﬁmﬁ@aﬁ@ﬁ—ﬁmﬁﬁ%?r
(1) TS I w1 Hay ol & 21
) ﬁﬁﬁwwm%w%
(3)  Foreh o e e < g e 7 e e
4) Wmmwﬁm%

( %

35. aﬁa‘m md@w 27
(’ (1) ferst amaw (2) THH H A
L (3) T eew (4) STIRAAH AT SHR

36. frefafad # ¥ WG TR YO F1 FH-T1 SURYT 32T T § 2
(1) ©a SHIYA & HTeT o Ufd TRfid &

2) wwmﬁé@mﬁmﬁ%fmﬁaﬁm@aﬂﬁﬁaw

3) ﬁawmé?mgiwuaﬁqsﬁrmaﬁw

(4) TH Ged § AME WA Hl I8 W@ SR FHIR HEAT
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37. What is “gate hiring’ ?
(1) To select people who approach on their own for employment in the organisation.
(2) To select people who are recommended by the employees.
(3) To select people from public employment exchanges.
(4) To select people supplied by labour contractors.
r 3
38. Matching essential managers and essential positions is a step in the proce$s of : {
(1) Career Cycle (2) Succession Planning "r ' | r
(3) Career Planning (4) Career Stages ¥ v s
1. F
25 { (¢
39. The barriers to effective performance appraisaldre: )
(i)  Psychological blocks of managers
(if) Faulty assumptions of the parties con¢erned
(iii) Technical pitfalls ‘ /
(iv) Faulty written communicatioriy ( r-'
Codes : " 1 4
(1) All are correct. Only (ii) and (iii) are correct.
(3) Only (i) and (ii) afe forrect. (4) Only (i), (ii) and (iii) are correct.
4 e
40. Who has develgped the ‘Systems Approach’ of industrial relations ?
4 ,(1_) John Dﬁi - (2) Garry S. Becker
( (3) Michael J. f% (4) Edwin B. Flippo
v
41. Ifr ].992 the ba ing sector reforms were introduced as per :
(1 c Rang jan Committee Report
(2) W M. Narasimham Committee Report
(3) iresh Tandulkar Committee Report
(4) Sukhamoy Chakrabarty Committee Report
posss | RN L Fapec
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37. ‘TeEEfar #NE?

(1) et 9ed ¥ ISR & T wo=st 9 o @rn § 9§ Sl &1 =91 & |
(2) HHRA G SEIfaRd AfwTal § 9 HiHAT H =T BT
(3) WK ISR wETEl | 99t TC Al § | HiHA 1 =7 L |
(4) 99 el R U T AR § | HiHAT 1 =TI HEA _';&
i
38. S Yoo SR e T § g R TR O T R " /.’
(1) R = (2) SATHES A f | F
(3) i frarm (4) Wewwem A4 I T
T v
39. T froaed e & STalYe ¥ 1 ») ) 1
(i) eI T T T '
(i) wweifyad gaf st Ffequl A=A
(i) RTRT QAT [ 4
(iv) eyt fafea w5 9@ (" '
%< < y
1) |t wE ¥ _}J (2) e (if) 3 (i) W E
(3) HAA (i) 3 (ii) j@“ﬁl (4) IS (i), (i) 3R (iii) TE T
I -\
40. 3rEnfire g B uﬂgﬁﬁﬁsfm (fa=m wa=) =i fea fasfaa fwan ?
(1), STE (2) T T S
(® WQT’V @) e o, frmh
41, 1992 % ek & W, FreAferfiea § @ form w0t &1 RO & SMuR W, GURI 61 @] foa e 2
1 4 ., TR e
(2&,@. Tfgen & fare
(3) " R TgerRY RAET Rt
(4) YA Tehard HH RAe
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42. For the purpose of extending rural banking and agro finance, the NABARD :
(1) Directly lends and monitors the rural borrowers

)

(2) Refinances the banks extending rural finance
)
)

(3) Refinances the rural borrowers obtaining credit from banks
(4) Directly finances the rural borrowers and gets refinance from governmerlt 1 4
D
43. When RBI grants loan to commercial banks and charges interest on it, it 8 céll;d 5 / ' 'I
(1) Rapo rate (2) Reverse Rapo rate "r | r
(3) Sweep stack rate, basic rate (4) Bank rate < ¥ y »

AL CN°

44. E-banking business is essentially regulated by Inforthation Technology Act, 2000, under
which personal signature is replaced by :

(1) Encrypted signature (2) f Imageysignature

(3) Digital signature (4) ' Onlin nature

< .
45. In order to control inflation and ‘en?re tability in mIney market :

(1) The RBI works under t}* jire tion of ministryf of finance, government of India.
(2) The RBI acts inde]:eldncrgntly and can refuse the government directive.

(3) The RBI acts u'ﬁiier é’mﬁ board of directors.

(4)

The RBI's ‘}oard of g&\'iernors shall abide by the government directive.
Y4
46. (’In' respect of intggfiational business, a project is called a turnkey project because :

. (1) The licenseg agrees to construct an entire plant in his home county and hands over the

s ey
(i").i" The licens@r starts the operation and hands over the key of the operating plant to the
licensee.

(3)%4 The licensor starts the operation and then invites the licensee and hands over the key to
. complete the remaining work.

(4) The licensor and the licensee jointly carry out the project and agree to share profit

equally.
J-0815 H|”||H|”
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42. ror S iR wfv fag & TER F gEeH F fad e
(1) T JUR & aTel i HieT SUR <A1 8 SR WY 36! H1ied L § |
(2) T 99 oM A a1 Skl 1 A fa9 gee A
(3) Sl ¥ B YT HTA AT AHIT BT A TH: T WM wa B
)

(4) Tfer st R WY AR R 0 2 § SR T SR @ 7 E: ford W e & ‘k

.
|
43, S AR.3ME AT bl I 01 <1 § 3R ST W AN 99 qo{dl%?ﬁ?@f?@% /r’f'

(1) WE 2 fEdE .
(3) T TF Y, oafgw 4) o < f_ Jr‘
11‘\ ( (
44. $-3fn sraET e gE et 000 ¥ T3 A & Forrd sreemia wwaeRt
FITTEA AT 1
(1) ke fam=R (2)731:5;77““7
@) fefSea fam= (4) H- ﬁiﬂ'ﬁ?

Q@ ("

45. WW%W@T@W&W@WW%W
(1) Wwﬁﬁﬁuﬁ%ﬁ%ﬂﬁwﬁm T HIT R |
(2) SRR, WA EYH F FA1 8 R 98 TR & 7490 BT 711 B FHeA ¢
s w.ﬁ.aﬁ._ﬁé@%%@%mﬁwm%l
“ wﬁaﬁ}wsﬁémmﬁww%ﬁéﬁwwm|
1. (aﬂﬁ@aw\q\ﬁﬁ o S 1 Y e T i
@) _eEdEud e 1 ST T H I TR IHHT =1elt IS FA F AT Tewd g 2
(2)7 TTEHTRTT T I B 31 § SR AR B =] whie # =6 3 3 §
(3\‘ f e T =] AT © 3R R A aeRt 1 o € 31X 38 T S 6l T HH
o feTe shear 2

)
)

-
4) AR SR AR T B Y WESH T H TR H 6 3 56 o ) 9w
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posss [[IHTHHAINAN 21

www.examrace.com



47.

48.

49.

50.

“(1)© Society fo

Match the items in List-I with the items in List-II :

List-I List-II
(a) Bretton woods conference (i) WTO
(b)  Soft loan window (i) World Bank
(c) Geneva (iii) IFC
(d) Loan to private sector (iv) IDA
Codes : 4
@ ® © @ CY)
O O @) @ /)
(2) (@v) (@) () @) \) {
@) () @) O ¢ '
@) () @) @) 0 - |

B
Assertion (A) : The member nations, consistently fmdmg balinde of. paymeﬁts crisis, may

approach the World Bank seekin, c1al ac mrx‘odatlon to mitigate the
cirsis.

d'

,.l
Reasoning (R) : The member nations facing Palance of payments: crisis can approach the
IMF seeking redressal of the'BOP grisis.

Codes :
(1) (A) is correct and (R) is correct explanation of

) (A) is correct but (R) is wrong. L
(3) (R) is correct and (A) is wron,
)

(4) Both (A) and (R) are wrong,. a ( |
4

In computation of balance of } ments, overall balance of payments =

£

(1) Balance of current aceount + Balance of capital account + Statistical discrepancy
(2)  Export of goods andsinvisibles — Import of goods

(3) Foreign exchangedinflow —Foreign exchange outflow

(4) Export of goodsiand il}visibles + Import of goods and invisibles

Thelinstrumeflt}hosen for enhancement of international liquidity is :
orld wide Inter bank Financial Telecommunications (SWIFT)
(2) Special Dragvi Rights (SDRs)

. (3) Multilateralf Netting

(4) Netting of Payments
T

r
(' ) -00o0-
.ﬁ-r
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47. -1 A1 1 Ge-11H A7l § gafad fwE

Heit-1 Heft-11
a) oA e HI%d () T
b) gad = faeEt (i) fava =
c) SiHen (ili)  3TE.TH. .
d) fsit & & fore s (iv) STEELT, T
K f’ .
@@ (b) (o) (d) Es J
1) @) () (@) (iv) \ / '
(2)  (v) () @) @) ’r ' r
®) (@) (@v) (@) (i) _ ,
(4) (v) () (i) (D) B
48. AMIHRYIT (A): T TS T Sl R PIaE Fqarts wwﬁ@%ﬁgﬂwwq@
5t T

¥ 39 a1 9 f9eq & fag

e (R) : 9 e T 1% T dege 1 A AEAT AT IS @7, I STE.TH.T.
T UET HIH LA, HY %ﬂy T T HR e ¢ |

<

(1) (A) 5l g, Td (A) FT (R) el AT B | :

2) (A) T & T (R) Tod B V.

(3) (R) W&l & W (A) T B i( r'
@>wﬁwﬁwﬁ|‘1

49. Wwﬁmﬁwgﬁwﬁm%
(1) H‘l@‘@ﬁﬂv‘fﬂﬂﬁ?ﬁ QTd &1 Feger + Hifersha fogfa

(2) &l T 1 Frafd — egeli 1 s
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(4) aiﬁaﬁ? et 1 Faia + a5t @ oy 9l &1
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((1) Hrared w 7 TS 3R Ak TRaHREe fawgfaem (fafre)
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(2)
@)wm
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r
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